Copyright Lappset Group Ltd

% LAPPSET.

FITNESS

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 1 9' 9' 2023 Fitness equipment is not intended for installation in

the immediate vicinity of children's playgrounds in
ccccc dance with EN 1176.

Kuntolaitteita ei ole tarkoitettu asennettaviksi lasten
leikkikentan valittdmaan laheisyyteen standardin EN

08 1 857 1176 mukaisest.

/

P




s LAPPSET.

081857

Copyright Lappset Group Ltd

FITNESS 3
DATE: 19.9.2023
702341 |pcs| 708799—704|pcs| 708800—704|pcs| 708801—704|pcs 708811  |pcs| 709293—704pcs
1 2 2 2 2 2
15x1050x798 15x1050x798 15x1050x798 232x3050 10x68x1050
PCS 709738 |pcs 709740 |pcs 709741 PCS 710040 |pcs 710041 PCS
E 1 1 1 1 i 1 1
118x78 118x78 118x78 118x78 118x78 118x78
710486 |pcs 711405 PCS 900348 |pcs 900735 |pcs 900965 |pcs 901104 |pcs
L 4 40 56 104 8
?16x974 118x78 M8x30 M8x60 M10 M8x80
901302 |pcs 902195 |pcs 902232 |pcs 902233 |pcs 904450 |pcs 904917 |pcs
164 2 8 4 4 40 24
L
@ "/ Q)
o)
- ; - - - = - -
220/10.5x2 150x50x50 M10x55 M10x30 M16x170 M10x100
906006 |pcs 906598 |pcs 909256 |pcs 909633 |pcS 909866 |pcs 909867 |pcs
8 2 294 118 12
| ; |~ = ,‘» ] -
SE
" Qr
264 /36,4x59 366x50 216/8.4x1.6 M8 M8x60 M8x70
910368—224|pcs 910376 |pcs| 910392—224|pcs 910405 |pcs| 910408—222|pcs| 910410—222|pcs
2 56 1 10 1 i 4
i
1315 @30x17 90x90x30 90x90x2720
910415 PCS 910416 pcs| 910427—-222|pcs| 910447—224|pcs| 910448—222|pcs 910467 |pcs
257, 4 I 2 — 48

=

=

216/12.5—14x17

048 /43—45x24

90x90x3400

110x38x55

DN

<

@13—@9x7




s LAPPSET.

081857

2(

2)

FITNESS 3

DATE: 19.9.2023 a

910604—222|pcs| 910606—222|pcs| 910608—222|pcs| 910609—224|pcs| 910612—224|pcs| 910614—222|pcs

4 2 3

1060 90x90x4200 2105 1365 1340 1315
910616—222|pcs| 910619—224 |pcs| 910621—222|pcs 911149 PCS PCS PCS
72
2105 45° 1060 M10x110

PCS PCS PCS PCS PCS PCS

PCS PCS PCS PCS PCS PCS

PCS PCS PCS PCS PCS PCS

PCS PCS PCS PCS PCS PCS

pel I I I I I I
pr

§ PCS PCS PCS PCS PCS PCS

5 il il il il il il

§ i i i i i —
Ql
Q.
S
5

=Y i i i i i —
&
(@]




& LAPPSET., 081857

FITNESS

DATE: 19.9.2023

Copyright Lappset Group Ltd

[EN/AS Impact Areg 48.9, m2

+ + + + + + + + + :
Grid size = 500 mm 0
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +
+ + + - -
+ + + + +
+ + + + +
+ + + t t
+ + + + +
+ + + + + + + + + + + & + + +
0
—
—
+ + + + + + + + + + + + + +
o
Q e
N N
+ + + + + + + + + ¥ + + + + +
o
<
o
—
+ + + + + + + + + + + + + + + +
(o]
AN N/ ®
+ + + + + + ; + + + + + + + 400
o
<
o
+ 4 + + + + + + + + + = + + + +
+ + + \/ + + + +
o
n
+ + + + il + + +
—
+ + +
+ + +
+ + +
+ + +
+ + +
+ 4 + + + + + + + + + + + + +
+ ! : : : : : : : : : : : : :
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +




Copyright Lappset Group Ltd

s LAPPSET.

FITNESS

081857

DATE: 19.9.2023

4A

@

v16 § > 130

@

® ©
Q]
0
® ©
85

I
Qs Q2
o e O
0¢ Qs O¢ 19)
o° Oe o °5° O 2
o 30 °e 9 A
o -
o) 0: Q7 Qs Qs
a ° [+
o °

Concrete / Betoni K30




= LAPPSET.

FITNESS

081857

4B

DATE: 19.9.2023
Concrete foundation plans
Jpcs 200x500x4930
500 500 500
900 900
- - +4660
10
~
185
- +3510
S — —
3
= +1420
- - +270
o

Copyright Lappset Group Ltd




s LAPPSET.

FITNESS

081857

Copyright Lappset Group Ltd

Area of Movement 48.8 m2

Movement Space 48.8 m2
Training Space 21.8 m2

DATE: 19.9.2023
Max Falling Height 2750 mm .50
[ e
0
5550
3710
///‘»k - “‘\\\
/ g \\\
// 3 N
~

6540

5980

1620

)
)

ljJ
ol
=S

44~

il

N7

I N B

2160

IR ————n.

I
2090 <i//}

8660

6720




s LAPPSET.

081857

FITNESS 5
DATE: 19.9.2023 A
M +4200
T
+2720
+0
| 1400 1400 |
+3390
o 1

+0

Copyright Lappset Group Ltd

\ 1150 |




081857

DATE:

s LAPPSET.

FITNESS

19.9.2023

DET 18

DET 8

DET 10—11 AH:

DET 12
DET 16

*Note

p3}7] dnoug 3jasddpT jybrhdon



Copyright Lappset Group Ltd

s LAPPSET.

FITNESS

081857

DATE:

19.9.2023

DET 1

900348

909256

DET 3
900965

= 901302

90491/

DET 5

909256

DET 7 DET 8

~.__ 910405

9096335

DET 10

900965
u e unuse mm holes “|le] Wh installi | ts in th
°o|ls] 911149 sl lle a ‘?hethposts omdd 1tfecmsh ‘ NI 26!’?’1nmmhso\oesmgsz e‘[n)’::mbismhgse f 901502
%% ol 901302 o||,] @ with the plugs (910415) N 9| (910376) on both sides of the
Lo o ) ] post
L 900965 N mTuvLﬁ\ koyttomottomot 1§mm ol ®
s 9 °l. ;e‘\o'tupu(%r:oefgo) jo tolpissa GK g 26mm reikiin asennettaessa
=, | |lC °l. Lphia kdyts puslio (910376) tolpan
] ”N ® molemmin puolin
o ® &
® @ %% 910376 904917
®o ol|@
S o] @ oll@
DET 13 DET 14 DET 15 DET 16
- v
Qo
/@/ 910376 o 901302 906006
; o] 201202 900965
@ o [el”
© (@]
Q::::ECD O || & (o)
o )
O

900735

®
909256
909633

DET

\ 910467

Plug the unused 9mm holes
in the posts and beams
with the plugs (910467)

Tuki kdyttdmdttomdt 9mm
reidt puomeissa jo tolpissa
tulpilla (910467)

*Note

All the post flanges are in the same direction

Kaikki pylvdiden jalat ovat samansuuntaisesti




Copyright Lappset Group Ltd

s LAPPSET.

FITNESS

081857

DATE: 19.9.2023

TOWER A

7

910608
910405
4X

910616

BIVAN

N
T S 5 56 55 5 5 vss s b oo ey
5] N\
\
N
N O AN

AN
L
\7

910614
2X

/10486
4X




s LAPPSET.

FITNESS

081857

DATE:

19.9.2023

TOWER A

7a

A

+4140

+3340

+3150

+0

1:50

+2620

+2420

+0

Copyright Lappset Group Ltd




081857

DATE: 19.9.2023

s LAPPSET.

FITNESS

TOWER B

7b

910614

910405
2X
910606
2X

910608

; :II\
1] "
i

910616 H
N
oL,

Copyright Lappset Group Ltd

910448

/708811
X N
N
b




081857

s LAPPSET. TOWER B
FITNESS DATE: 19.9.2023 7c
@ 1: 50
+4120
W o
+0 +0

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

& LAPPSET. 081857 TOWER C

FITNESS DATE: 19.9.2023 7d

910408

910604
B6X

T 910368
| 2X

l 910619
< 2X




Copyright Lappset Group Ltd

s LAPPSET.

FITNESS

081857

TOWER C

Te

DATE: 19.9.2023
@ 1:50 1:75
+2580
+2410
+1460
+1030
+0 +0
+2420 _
: - ' ; +2630
+1880
] +1080
: : : : +330
+0 +0




Copyright Lappset Group Ltd

& LAPPSET., 081857

FITNESS DATE:  19.9.2023 8

906598
2X

/708801
2X
708799
2X

B

711405

/70974041




% LAPPSET.

Impact Area EN 16630 REF: 4x

DATE: 20.2.2018
ai

h < 1000 Totally hard surfaces or Totally hard surfaces.
materials with very limited E.g. concrete or asphalt
impact attenuating properties.

Case by case risk assessment is Materials with very limited
needed including e.g. evalution impact attenuating properties.
whether there is forced movement, E g wood

what is the intended exexcise and where =

will the product be installed. w W Y/ N WL

fine gravel 0—8 mm
TIAd4 gmg %A | 94 Saga

TN ama oy,
a 447437 10 emla ua
LA e s 4.4 44

Materials with significant
h <1200 )

impact attenuating
properties.

Unsorted sand/ topsoil

e

Lawn
h <1500 Ao ahihiubity
h <3000 Loose fill material
Eg J qA’ : :a oa ,
sand/gravel 0,25...8 mm DB80/D10<3,0 | 2 e T <
Woodchips 5...30 mm T S S,
bark 20...80 mm o T o
= =TT -T-T-T-T-
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5..1,7 m (EBg Ll AL //Lél
60 mm ~> 1,8...2,0 m :::*:7*:::::::::::::::
70 mm ~> 2,1..2,5 m e BB

Note. For accurate values, see
manufacturer’'s instructions.

Copyright Lappset Group Ltd




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET. PRODUCT SIGN
FITNESS FRAME DATE:  12.10.2020 1(2)

Copyright Lappset Group Ltd

(D) SIGN  [res|(2) 905390 [pes

4

AN /0
J g

118x78 24,8x28
O v
6\
o |
3 Q)
Y ]
Q
q @] ,Pre drill holes @5
on the post |
f vet +1800 ;
N R The height of the  \f
sign s between ™
iLgk\ 1,2m—1,8m from §
the bottom °
of the post/é
T +1200 °

o

+0

o o o &




	081857 1
	081857 2
	081857 3
	081857 4
	081857 5
	081857 6
	081857 7
	081857 8
	081857 9
	081857 10
	081857 11
	081857 12
	081857 13
	081857 14
	081857 15
	081857 16



